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(4)xe(0,1]8f,ye(0,1],fy=2* -1 f8x= Vy+1;%xe[ -1,0)0f,ye (0,17,

Hy=2"18x=-/y
s,sz,wemﬁm&F{

-Jx(0<x<1),
va+1(-1<x<0).

®15 (2(1)4-&.K3Jiﬁ'@§iy=l+3"H€iﬁ$ﬁ%’y=g(x),!11'fg(10)ﬁ<]{§jl3 ( )

A2; B. -2;

C.3; D. -1

[MRH7] bk g(x) O RA X, BRI R RS S B2 69 Mk, 4o BRI B M 5

KR BB 4 R RFER AT o F oMk
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|
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Y




W e(10) =x, M 10=1+3 "

So—a=2,x0= -2,

vk B

BU6: (2005 - dydy) R f(x) WIBIR T4 (1,2) XHFR, LAFTER BB F ' (x)
f4) =07 4)y=_ .

ft: e SO0 MERBOCTF AU, 2) XFR, B A(4) =0, (4,0) 3 F (1,2) B8R (x,y)
HAE f(x) P % |-

! x= -2,
1 BDA( -2) =4.
N , 1!%{}:4‘ hrC-2)

S flx) FFAERLeRE S (x)
N4 = -2,

T muaMREs D

L (AbJf X M P 47347 ) 45 f:A—B REA R BR ST, F oI F s ( )
(DA PEUE—IJCETE B hE R HME—,
(2)B R ZATTE AT A PRI ES
(3)BHHTETLIEA PSR,

| (4) RUGEL R B.
5 A 1A B.2 4, C.3 4 D.4 4~
P2 B,y ) FEBUH f TSR (v +y,x - y) JI(2006,2008) 75 f FrgEig R ( )
| A. (2007, -1); R. ( -1,2007):
5 C. (4014, -2); D. (=2,4014).
|3 (SERBA R R BA) FAIRC 2 — A G « )
Ay=145y=4+"; B.y=xYy=aloga*;
i Coy=2gx 5y=1g4"; D.y=2""-2% &y =2,
4. (ARIF KB #5347 ) T3 PIA BT o , B SR 5 7 C )
| A(l); B. (1)(3)(4);
C.(1)(2)(3); D. (3)(4).
v ¥ y ¥
\12 0’ % "o "x 0 * 0 i
| 1
, ) @ 3) @




5. (2001 - b, A&48) BHA(2°) =log,x B4 f(8) % F ( )

Y
|
1
i
[
|
|

4 . 1
A. 3 B.8; C. 18, D. 2
6. (2005 - 34 ) B f(x) =3 -2, W ffLA(x) ]| 2%T ( )
1 .
A f(x); B. ) C —flx); D.3f(x)
To A" +1) =2 #5252 3 M f(o* 1) %TF ( )
Axt 4557 41, B.x* +2% -3,
C.a* =5x" +1; D.x* +27 +3. i
8. (2005 - 4L AR pR%L v = —x—ij(x# - 1) M R U ( ) *
|
Ay= -1 Ci(x20); B.y= - +1(x0); *-
x X i
Cy=-x+1(xeR); D.y=-x-1(xeR) l

9. (2005 - iz 35 M) BRELS(x) =" +2(x<0) ()5 BB P G A BB FEHH ( )

Il St S

10. (2006 - ¥ & 6) BERRE v =f(x) R BRE R v =/ (), Hy=f(2x - 1) {205 54

12. (2006 « 4% X 11) EHERIS(x) =a' -4a +3 (10)7 FEAE 5 2 Ed R (-1,2) 54
a MEHTF_ .

13. (2006 - «qum)&f( %) =log, (x +6) I EE N £ (x) . 2 (f " (m) +6] - !
(n) +6] =27, f(m +n) =

<5,1>.mu;=f (x) (P Z2 et 2 ( )
ADs B C0: Do), |
1. (2006 - £8%3) ERRH y =" WEILTHH y =/C0 (OHRET UL y =x 2955,
P « )
A.f(2x) =e*(xeR); B.f(2x) =In2 + Inx(x >0) ;
C.f(2x) =2¢*(xeR) ; D. f(2x) =Inx +In2(x >0).
;

0. Wele ---)J = |

15. (2005 - dt)?ﬁkﬂ%“f’ﬁ'r»‘ﬁ#r)L.%ﬂ(x,))i’i'lﬁéﬁff—lfﬁﬁgiﬁ(x +y,ay) RO -2,3) 7 f
FHIRR(2, -3) 7 f TS 13)
16. (2004 - Jw#AFR—4E - 9) B 40 /(» x) =logix +3 WL eR¥H £ (x) , F5 A2 G /
(%) <x =2 JSE, 3R « BYHR(E .

14. (2006 - 75, x14)&g(x)_{" *=0,
Inx ,x




